IF IN DOUBT, PLEASE ASK 7 “ DO NOT SCALE TF DIMENSIONS ARE IN mm

J | , | H | G F | £ | D | C | B | A
ERP CODE: | |
8
DRIVE SIDE DRIVEN SIDE
M6 SET SCREW ON KEYWAY.
B
7 N [ o 28
79 8+0.018 | g p30™30% 2
M , M) 55
[ M) 7 3 o=
R ® M) EE
= 35 357~ 2y
o o
6 W 4+0.021 BW \L\‘\\‘\‘\‘\‘\\\\Jﬂ\ 05 SE
\ . el S g
r 230" S 8+£0.018 25
F
s
2NOS— M10X1.5P PULLER HOLES 2NOS— M10X1.5P PULLER HOLES 32
5 ON 110 P.C.D. ON 110 P.C.D. 5 @
= O
=
. M6 SET SCREW ON KEYWAY. 88
APPLICATION DETAILS .m.@
APPLICATION — e
4| RATED POWER _ 9 CLEVELOCK NUT GR.10 12 g
RATED SPEED — 8 COUPLING BOLT AH BOLT GR. 12.9 12 wm
| | RATED TORQUE _ 7 | ATTACHMENT BOLT (1) AH BOLT GR. 12.9 12 wm
ASE. _ 6 SLEEVE ASTM A 1040 6 |Z¢
ELEMENT BLADE < >
= COUPLING SPECIFICATIONS NOTE:— 5 ACSEMBLY AlSI SS 301 2 55
COUPLING RATING 36.5 KW @ 100 RPM TIGHTENING TORQUE :-— 4 SPACER »Mx &mmw}mg A3\ 4 fom
1) SR.NO.8 COUPLING BOLT = 161Nm 23
RATED TORQUE 3466 Nm 3 ADAPTER 1/ ASTM A 1040 2 |ge
— U AX BORE o0 2) SRINO.7 ATTACHMENT BOLT = 53Nm o
: mm 2 DRIVEN HUB (1) ASTM A 1040 I
WEIGHT (Approx.) 31.164 kg S5
_ 1 DRIVE HUB (1) ASTM A 1040 1 el
2| INERTIA (WK?) 0.115 kg.M"2 =
SR.NO. DESCRIPTION MATERIAL aty. |29
TORSIONAL STIFFNESS | 0.749 MNm /rad 32
H CFLG DYNANIE BALANCING 70 GR 63 TITLE: MATERIAL: AUTHORITY|INITIALS|  SIGN | DATE Se
AS PER 150 21940—11 REM—370(161)1/1 | REFER TABLE |ORawN B _ 2
4 MAX. MISALIGNMENT /XXX CPLG s T — 53
AXIAL DEFLECTION £1 mm CUSTOMER NAME: APPROVED | — - =3
ANGULAR DEFLECTION | 0.75° Pt N e e 25
[ Lo RATHI TRANSPOWER PVT LTD [0 O Pros[@)-Eprore: o%
RADIAL MISALIGNMENT | 0.013mm rev| OMEN DESCRIPTION rev. BY| AP | pate | [AEET PUNE-411014 L/REM—XXXX /0 *
. 05
E/ o/ 3 EN=F—=112—Revl [E5




